
I. What happened on                    (#15)? 
A. 5                    (#16)/2 Wave Attack (practiced in Japan w/ 80% 

accuracy) 
B. Phase 1: 7:55 AM-8:25 AM  

1. Combined                    (#17) plane &                    (#18) bomber 
attack (wave 1) 

C. Phase 2: Lull in attacks from 8:25 AM-8:40 AM 
D. Phase 3: 8:40 AM-9:15 AM 

1.                    (#19) bomber attacks (wave 2) 
E. Phase 4: 9:15 AM-9:45 AM 

1.                    (#20) bomber attacks (wave 2) 
F. Phase 5: after 9:45 AM 

1. Warning of attacks &                    (#21) of raid 
II. How large was this attack? 
III. Japan used… 

1. 81 fighter planes 
2.                    (#22) dive bombers 
3. 104 horizontal bombers 
4. 40 torpedo planes 
5. At least 5 midget                    (#23) 

IV. U.S. Forces 
A. 108                    (#24) planes (59 not available for flight) 
B. 35 Army bombers (27 not available for flight) 
C. 993 Army/Navy                    (#25) guns 

V. Casualties from Pearl Harbor attack 
A. Japan 

1. Less than                    (#26) men 
2. 29                    (#27) 
3. 5 midget submarines 

B. U.S. 
1.                    (#28) servicemen killed, 68                    (#29) killed, 

1,178                    (#30) 
2. 188                    (#31) destroyed 
3. 18                    (#32), including 8 battleships & 3 destroyers


